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AR |E=S 7,000 42,000 A35,000
201 Let23H| 5,000 5,000 0
01 A=R2teld| 5,000 5,000 0
OAIEIED Y 222 NE S
5,000,000& 5,000
202 0idl 2,000 2,000
01 =LHO4 L] 2,000 2,000
OAt2I &g 2ted S & =ol
2,000,000& 2,000
ARG SH(LRIEIEE, ME 3,040,500 6,163,000 A3,127,500
= 2,465,000
Al 575,500
308 AXISHMSOIH 3,040,500 6,168,000 A3,127,500
= 2,465,000
Al 575,500
01 AIXISHNBAEERZ 3,040,500 6, 168,000 23,127,500
OAZI &I LXte|&EHl XIJ
3,040,500,000& 3,040,500
s 2,465,000
Al 575,500




2 AMAEE FA SR Z M

Hu: ASIHAMER K 25

&2l ARl E ZHEDIE 2= (EEEE))
AR SN O(BH) - NRAY - BAS ofl b dE= HDS2
d=- A - 35 = 45 . 0l & =
OISJ1Y SAAIE(2H) 3,400 3,400
201 LBt AH| 2,000 2,000
01 AFR22t2lHl 2,000 2,000
OnEJ1g 4AY 112 M S
2,000,000& 2,000
202 04| 1,400 1,400
01 2| 1,400 1,400
oorE21g9 4dAIY =8|
1,400,000& 1,400
02018 243t NI 40,000 40,000 0
307 21Zto| ™ 40,000 40,000
02 QIZFBAMAIE X 40,000 40,000
ooy &¢4d3 X 40,000,000& 40,000
OFE201e S2HR|D |2 2 (NHEAIY) 300,000 300,000
307 21Z2H0| & 300,000 300,000
05 OIZt2|EZ2 300,000 300,000
ool W= ALE X (01Y 2-12HA)
300,000,000 300,000
OS2I SEAIE(XIE) 180,000 375,000 A 195,000
= 120,000
Al 60,000
308 XAXIHHSOIA 180,000 375,000 A 195,000
g 120,000
Al 60,000
01 AIXHHMBAEEZ 180,000 375,000 A 195,000
o029 s4Ad 180,000,000 180,000
hay 120,000
Al 60,000
2Z22AZ A (RH) 500 2,000 A 1,500
202 04| 500 500 0
01 2| 500 500 0
O2322AY F=REH 500,000& 500
2222 A (KI) 1,500,000 1,500,000 0
308 XAXIHHSOIA 1,500,000 1,500,000
01 AIXHHBAEERZ 1,500,000 1,500,000
OZ2Z222A 1,500,000,000& 1,500,000
NEZ=SHLR2IAS (RA) 2,300 2,300 0
201 LB AH| 1,500 1,500
01 AtR22t2|H| 1,500 1,500
OXHZ2SHLACIAIY AT MIE
g9 1,500,000 1,500
202 04| 800 800
01 2L Y| 800 800
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L NBIRBRHER X Lst

;F?_—ii A2l & FHDIEH 2= EER=E)
AR R BB B(3H) - MSAY - BES 0l arey dix HIRS2
d= - A - R F 45 . 0l & =
OXNYGZ2SHLXelAtg FE K]
800,000& 800
NEZESHLXEIAIS (B EALS) 1,760,000 1,750,803 9,197
308 AXIHHSOIA 1,760,000 1,750,803 9,197
01 AIXHMEANEEZ 1,760,000 1,750,803 9,197
OXNEZ2SHLKCIAFZ (01 2-1SHAH)
1,760,000,000& 1,760,000
oI MMRSEXANEH2Y 400,000 360,000 40,000
307 21Zto| ™ 400,000 360,000 40,000
05 QI2ZIRIE= 400,000 360,000 40,000
OLIHAMSENHME 2
400,000,000& 400,000
Hi6S| CHEteI=2 AISIEAN B3| 600,000 0 600,000
201 LErEAH| 600,000 600,000
03 HAIZHHI 600,000 600,000
ONIB3| CHEteI=2 ASI X AN BHets|
600,000,000& 600,000
=252 H 43l 101,500 103,000 A 1,500
2823H JIBtXH(2E) 1,500 3,000 21,500
201 LEt2AH| 1,500 3,000 A 1,500
01 AtR2teld| 1,500 3,000 A 1,500
ORI NER/ARYS 29
1,500,000& 1,500
B98N O (SHA) MEXA 50,000 50,000 0
307 2I2t0I™ 50,000 50,000
2 QIZHEAMANEEX 50,000 50,000
O38ZH JIG(HH) HEXH
50,000,000& 50,000
2823H JIBXSE(XI) 50,000 50,000 0
308 AXIHHMSOIA 50,000 50,000
01 AIXSHHBAERZ 50,000 50,000
OZ28ZEM AX7 Z22AH
50,000,000 50,000
S Xgtee| 98,065 94,565 3,500
gsAE 29 98,065 94,565 3,500
SSIE 43 MY 98,065 94,565 3,500
201 et HH| 3,000 3,000 0
01 AFR22t2lH| 3,000 3,000 0
O Mz, =2H| 3,000,000& 3,000
307 21Zto| ™ 90,300 90,300
2 QI2ZFEBAMAIEE R 90,300 90,300
OgsAxe &g4d3 90,300,000 90,300
308 AXIHHSOIA 4,765 1,265 3,500
13 S| 2SS A EREAIS I 4,765 1,265 3,500
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A= JHdgER N SEASIZH
ma: AFSAAY)
chel: J12ZH(SEAEIZH 1) (Gt &)
A2 2N - FB - O9(E) - HIRAY - BES Ofl b Ce HDS2
= - S5 L SR - Oil ko <
M2 28,417 23,660 4,757
201 L2 | 16,417 13,660 2,757
01 Ar22eltl 16,417 13,660 2,757
OfM23H| 8,737,000& 8,737
O=gt| 7,680,000 7,680
202 04dl 8,400 7,000 1,400
01 =LHO4 L] 8,400 7,000 1,400
OJ|l2g+d ol 8,400,000& 8,400
203 AR F=&lH| 3,600 3,000 600
M PA2IHRFALI 3,600 3,000 600
ORN2IYRFA| 3,600,000& 3,600
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AR AR SN EEEHY
Y. AHEE S AI2S HF
SRl ZAFHEANY X (SH9 H2)
A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2
O=sFZN=2 “sHEAHEL 2F
480,074,000& 480,074
o222k F2g=sEE4 12,000,000 12,000
ORYEIZZAt oli2lHA= 150,000,000& 150,000
HRAL-LZUE =SSl 34,200 38,000 A3,800
307 QIZ2t01 A 34,200 38,000 A3,800
04 CIZISHALAIRIE & 34,200 38,000 A3,800
OHRA-ZTUE =33 34,200,000 34,200
22X & A} 75,000 60,000 15,000
307 212+01 A 75,000 60,000 15,000
04 QIZHHAIAIRIE & 75,000 60,000 15,000
O22X12 & &AL Y LAIRIE SBHHS
75,000,000& 75,000
2ENSE0I=H 90,000 75,000 15,000
307 gI2tol ™ 90,000 75,000 15,000
04 CIZHSHALAIRIE & 90,000 75,000 15,000
O2Z2HSEH=H 90,000,000& 90,000
CsAEM=Us 50,000 50,000 0
307 212+01 A 50,000 50,000
04 CIZISHAIAIRIE X 50,000 50,000
OL=Zg d=slisl 50,000,000& 50,000
2ENSEHSAAILE 22 & 29 4,749,775 2,379,848 2,369,927
201 L2 | 3,090 3,000 0
02 33244l 3,090 3,000 0
O2Z2NSE=EN2 nEREFES
3,090,000& 3,090
307 QIZt01 A 1,845,095 1,631,978 213,117
05 2I2tRES 1,845,095 1,631,978 213,117
OS2 ZAES=XS 29 A |
1,734,095,000& 1,734,095
ORISR 29 A |
58,000,000 58,000
ORI ZAESe=XS 29 /A &
53,000,000& 53,000
308 AEXIHMSOIH 169,205 420,370 A251,165
13 SI |2 SHICHEH B A E L EFALH] 169,205 420,370 A251,165
O2Z2UEsHdEH 2% dAIZY|
169,205,000& 169,205
401 A& B2 20HL| 2,584,385 85,000 2,499,385
01 AlEHI 2,516,019 85,000 2,431,019
O22X2sHlE 21222 (Ald])
2,516,019,000& 2,516,019
02 eyl 62,924 0 62,924
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A= ZHUEER A ESEH
M ANS AR5
SRl ZAFHEANY X (SH9 H2)
AZ 24 - 3H - () - HRAY - BEZ Ofl kel %E% Hlunsz
O222sHH 21222 (L)
62,924,000 62,924
03 Al 2 CHYI 5,442 0 5,442
OZ22X2H4HIE 2|2 (AL 0HHI)
5,442 ,000& 5,442
402 BIZHR=0l A 148,000 135,000 13,000
03 QI2HREFAL ] 148,000 135,000 13,000
OSRIZXNEE=EX 2 Ald2>
50,000,000& 50,000
OgR2ZNSESAZ AdEx
78,000,000& 78,000
OLES2ZNSEHERZ ALES
20,000,000& 20,000
A SARIE 82 2435 KIJ(AE) 2,000 2,000 0
= 900
Al 1,100
201 Let2| 2,000 2,000 0
= 900
Al 1,100
01 Ar2eltl 2,000 2,000 0
OXY LARIE oS gds XA
2,000,000& 2,000
= 900
Al 1,100
A SARIE 82 2435 RIJ(EX) 133,000 173,000 40,000
= 59,850
Al 73,150
307 QI2HO| A 133,000 173,000 40,000
= 59,850
Al 73,150
02 QIRHHAAIHE X 133,000 173,000 240,000
OXY ARIEES g4st XA
133,000, 0002 133,000
= 59,850
Al 73,150
XS SARIE g 4st 9%, 122 92,200 3,922
307 2I2+0l ™ 9%, 122 92,200 3,922
05 2I2tRES 96,122 92,200 3,922
OLAIE AIR= 25 96, 122,000& 96,122
22X JZZ2 ) H(EP) 2Y 100,000 100,000 0
307 QI2Hol A 100,000 100,000
02 QIRHHAAIHE X 100,000 100,000
OZZ2XRFZZ I (ER) 29
100,000, 0002 100,000
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Hu: =fsE 28

H £ 0l & AF & S

S0lat LA ML=

A= FRa R

=TT

=

Al A

Hel g=2el E 29 (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

sS4t 179,467,783 160,038,497 19,429,286

= 25,341,804
| 36,710,249
Al 117,415,730
SN=s&E F8 83,320,736 76,697,766 6,622,970
= 24,112,186
| 33,465,222
Al 25,743,328
a=22e| Y 2 2,817,220 2,982,590 A 165,370
= 2,351,500
Al 465,720
Ry KNA(HY) 307,000 313,000 26,000
= 307,000
201 23| 6,500 11,000 24,500
= 6,500
01 At 2telt] 3,000 7,500 24,500
Od=2d K2 MAES 2,300,000& 2,300
= 2,300
O=gt| 700,000 700
= 700
02 E324H| 3,500 3,500 0
Os82=2 & HA 500
oXSIHA € NSIHEE=
500,000& 500
= 500
OXtgiedei] 3,000
oxtsedl ¥ FRU 3,000,000& 3,000
= 3,000
202 Ot 500 2,000 21,500
= 500
01 2LHOLI 500 2,000 21,500
OZSHI=EM & =80l S ted OfH
500,000 500
= 500
206 =4I 300,000 300,000 0
= 300,000
01 M=l 300,000 300,000 0
OFRL=3 ZTH HZl
300,000,000& 300,000
= 300,000
okl NA(KIH) 2,044,500 2,043,500 1,000
= 2,044,500
308 RXISHMSOIH 2,044,500 2,043,500 1,000
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L AR

=TT

L =2XsE 2

‘;9;2 g=ac| & =24 (SH9 H2)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-d&-8 o 8= = ofl &b s2

= 2,044,500
01 JXISHMBABES 2,044,500 2,043,500 1,000
Olzraiz| 2 X|a 12,500,002 12,500
= 12,500
OFSUR FOXAAIY S|
2,032,000,000& 2,032,000
= 2,032,000
%= It ¥ =JH| X 465,720 626,090 A 160,370
308 AXIHHSOIA 257,100 390,500 A 133,400
01 AIXHMBAMEEZ 257,100 390,500 A 133,400
QOBEHEMNIIATH K& 100,000,000& 100,000
ONSE & 4| ZHX&
157,100, 000& 157,100
403 XEXISHHSAH=0|A 208,620 235,590 N26,970
01 XX SHH A =22 X 208,620 235,590 26,970
O=2HX)| XA 208,620,000 208,620
ME=SLo =24 & =X XS 1,886,654 1,867,448 19,206
= 848,710
Al 1,037,944
SHANH =28 L XA 10,350 10,350 0
201 LEr2AH| 6,750 6,750
01 AtR2t2lb| 6,750 6,750
O848 K= HEH 6,750
osdHFXAIM EEZ MZ
5,000,000& 5,000
oSRAHE ROl 1,750,000& 1,750
203 YR =&IH| 3,600 3,600
03 AIZHF=EH 2 =KRIH| 3,600 3,600
OsHAIMFZA 3,600,000& 3,600
SH=sw=E X 8,460 6,300 2,160
= 4,700
Al 3,760
307 2I12+0| & 8,460 6,300 2,160
= 4,700
Al 3,760
02 QIZFBAMAIE X 8,460 6,300 2,160
OFdlsn=s K& 8,460,000& 8,460
= 4,700
Al 3,760
HASHO A=A [ (2E) 4,000 7,000 A3,000
= 2,000
Al 2,000
201 LE2AHH| 4,000 7,000 23,000
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fir

Al

14,045

- SHRAZA) - HRANY - BES

=L

- 24

01 AtR2telbl

ulo

30
0K

.

ol
XJ
M
K0
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olJ
ol
H0
)
R0

4,000,000
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80
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=

03

3,000,000&

ol
R0

or&

=
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X

+

ol
<

308 At

fo

or

KM
RO

80

ol
ol
H0
)
R0

637,500,000
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0B

7
i
"0

80

ol
ol
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)
R0

11,250,000&

ol

=
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0J
=K

+

308 At

HZAEES

01 XX

0B

44,155,000
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==z o -
dEsgo 54 & S A (SH9 H2)
LA B - S9(E) - AISAY - BES of v e HIDE2
Hesgel =4 87,600 87,600
308 XXM SOIA 87,600 87,600
01 XN B2 LS 87,600 87,600
O0d=sgel b2 A
87,600,000& 87,600
sESSAHIA 243X 337,450 450,500 113,050
= 277,900
Al 59,550
308 AXIHMSO0IA 337,450 450,500 A113,050
= 277,900
Al 59,550
01 AXEH B2 LS 337,450 450,500 113,050
OsZE=sSAtlA gdatid
337,450,000 337,450
= 277,900
Al 59,550
FHsgol S5 AHEY XN 66,000 60,000 6,000
403 AXIEHMSA=Z0l1d 66,000 60,000 6,000
01 AXISHA=2 22X 66,000 60,000 6,000
O3d=sgel s AHEY K&
66,000,000 66,000
QIS MR OtEE K& At 270,186 0 270,186
206 MH=HI 76,643 0 76,643
01 MHZH| 76,643 0 76,643
OQlde a9 otae XY AH(82)
76,643,000& 76,643
307 el2to| & 193,543 0 193,543
02 2B YA R E A 193,543 0 193,543
OIS Hol O XY AR(F )
193,543,000& 193,543
A=Y |4 36,000 36,000
308 AFAIEHMSOIE 36,000 36,000
01 AXH B2 LS 36,000 36,000
OEAsSXAHE XS 36,000,000& 36,000
SA=Y 845 AMY XIR(ZE) 25,000 25,000 0
307 elztol & 25,000 25,000
02 2B YAIHE X 25,000 25,000
OH=0I AR stskd
25,000,000 25,000
SAN=sS 2435 A X (KIJ) 13,428 13,428 0
308 AtXIEMSOIE 13,428 13,428
01 AXEH B EES 13,428 13,428
=X THEHD| X3 6,400,000 6,400




AR ARAeEe
2=z 8
ol Meselel |4 U =X N (SHol: )
AR RA BB O(SH) - MSAY - BAS 0 &y e HIRS2
OZR0t TA=sY SHERIE
7,028,000& 7,028
TASEYE =4 142,275 210,000 NB7, 725
308 AXIHHSOIA 142,275 210,000 NB7,725
01 AXISHNEBAELRZ 142,275 210,000 IN67,725
SARETS XA 142,275,000& 142,275
OIMS Sl TAIEE =4 150,000 150,000 0
307 S1Zto| ™ 150,000 150,000
02 CIZHEAAHE R 150,000 150,000
OCIEY S SAISE ZHAIS
150,000,000 150,000
HESMEZUAIE sS4 Y 29 40,000 40,000 0
201 Let2AH| 20,000 20,000
01 AtR2teld| 20,000 20,000
O=sMag T2y 29
20,000,000 20,000
206 MHEH| 20,000 20,000
01 ME bl 20,000 20,000
OsASY ME 00 20,000,000& 20,000
st A5 B4 40,783,096 32,238,565 8,544,531
J| 33,102,553
Al 7,680,543
ll2g s ZES 32,740,000 31,182,000 1,558,000
J| 32,740,000
308 AXISHHSOIA 32,740,000 31,182,000 1,558,000
J| 32,740,000
01 AXISHNEAERZ 32,740,000 31,182,000 1,558,000
OoJl2g S9&=E3 32,740,000,000& 32,740,000
J| 32,740,000
22X =22 dYAHH N(HE) 10,650 13,300 A2,650
J| 10,650
201 Let2HH| 9,300 10,300 A 1,000
J| 9,300
01 AtR2teld| 9,300 10,300 21,000
OX =M 2d Rol= M
4,300,000 4,300
J| 4,300
O= &l 5,000,000& 5,000
J| 5,000
202 0441 1,350 3,000 1,650
J| 1,350
01 Z2LHOHI 1,350 3,000 1,650
OXZHN &3 oyl 1,350,000& 1,350
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L AR

(S = rummpy o

L =2Xs= s
L =0h AS B

(Sl &&)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
Smo AR e T == B Ofl &k ==
| | 1,350
SUXE= #ZEH 77,350 87,000 A9,650
J| 77,350
308 AtXIEHMI SO0l 77,350 87,000 9,650
J| 77,350
01 AXIEHZAEES 77,350 87,000 9,650
OXZH & 77,350,000 77,350
J| 77,350
NEM OlHEH 9,010 8,430 580
J| 9,010
206 =4I 9,010 8,430 580
J| 9,010
01 =4I 9,010 8,430 580
OA=H ELZ A 9,010,000& 9,010
J| 9,010
A== 54,247 74,689 N20,442
J| 54,247
308 AXIHMSOI & 54,247 74,689 N20,442
J| 54,247
01 XtXIEHHIE 54,247 74,689 N20,442
ozleds 54,247,000 54,247
J| 54,247
2ABEXNE 4,944 4,943 1
J| 3,296
Al 1,648
308 RXISHMSOIH 4,944 4,943 1
J| 3,2%6
Al 1,648
01 XtXIEHNIE 4,944 4,943 1
oZEd 4,944,000 4,944
J| 3,296
Al 1,648
dERE AEX 208,000 338,900 169, 100
J| 208,000
308 RMXIHHMEO0 208,000 38,900 169, 100
J| 208,000
01 XXIEHHIZ 4 208,000 338,900 169, 100
OFSI= N
208,000,000& 208,000
J| 208,000
HESE S=SAHY 70,194 70,1%
308 XM S 70,194 70,1%
01 XXIEHIZ 4 70,194 70,194
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(S = rummpy o

A= FRa R
Hu: =X sE 78

‘;9;2 st A5 2H (SH9 H2)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A CmE==T
IEEEEEEERE 70, 194, 0002 70,194
SUMHEE JIUNIE 767,701 759,109 8,52
308 XX SISO 767,701 759,109 8,52
NP ENENEESS 767,701 759,109 8,502
SXZ2 WoH2E IIUNE
619,453,002 619,453
Osgel NS JIYX
69,608, 0002 69,608
OIS 2E It 78,640,0002 78,640
s0igol Bolsg 6,841,000 6,841,000
308 XIXIEHHISOIH 6,841,000 6,841,000
PCENENEESS 6,841,000 6,841,000
S0/20l Bolsgt 6,841,000,0002! 6,841,000
NoiS3 o sABLL SA 1,410,871 2,582,519 AT171,648
2 336,000
| 24,000
Al 1,080,871
sineola MADIBAIE F4 256,516 31,525 105,009
403 TXISHHI S TH=0I & 256,516 31,525 105,009
01 RXISHH X2 E 256,516 31,525 105,009
Asiola MADIBIAE F4
256,516,002 256,516
+ESME S4(2F) 33,000 0 33,000
308 XX IS0 33,000 33,000
18 2|2 S0ICHEHE AR/ ETAL L] 33,000 33,000
ORI MEAE BHRAAIE HEA
33,000,002 33,000
SESME SH(TR) 162,355 137,941 24,414
308 XX SISO 162,355 137,941 24,414
NPCENENEESS 162,355 137,941 24,414
OUTE sAE 8 UETH |4
80,000, 0002 80,000
OSME +3ZAL K&
82,35, 0002 8,355
HIE AME DS X8 (XE) 200,000 190,000 10,000
= 100,000
Al 100,000
307 Q12H0| A 200,000 190,000 10,000
2 100,000
Al 100,000
(2 QIHAMAIA T 200,000 190,000 10,000
Ofte AMEDs Na(H7)
200,000,002 200,000
2 100,000




=TT

A= FHYRE SN SEAD

Hu: =f|sE 28

Ciol XS3 U SAEAY S (cie) 29
Al .2 - HE . CI-_?.|(§D:") c NIEAIY - HA S Of| AFOH SEE Hnz=2
Sl g A s . ol &1 =2

| Al 100,000
SAE LUIZHAS A (REAL) 40,000 40,000 0
307 RI2/0/ & 40,000 40,000
2 Bl BAAR BT 40,000 40,000
OSAIE AHIZMASH AFRI(01Z 2-121)
40,000,000 40,000
SAENY 54 A 12,700 2,700 0
201 Yer=SH] 12,700 2,700
01 AF 2] 2.700 2,700
SCEER:CES, 2,700,0002! 2,700
2 B2 10,000 10,000 0
OZRIHE A2 10| 2 (FA0) R I3l
10,000,002 10,000
6THAIS EAE NRAR(RE) 1,300 1,300 0
202 01t 1,300 1,300
01 U0t 1,300 1,300
OAZ2| BXISZH| 1,300, 0002 1,300
6 BAS NHAL(NE, D) 435,000 523,000 88,000
= 100,000
A 335,000
R ELEN 435,000 523,000 788,000
= 100,000
A 35,000
138 BII2SOIHRI B AR SIS AR 435,000 523,000 88,000
OBRIAIE] 43 TI2MY]
435,000,0002 435,000
= 100,000
A 335,000
ARD BOs 6XAE 0IY 70,000 70,000
308 KA SIS0 & 70,000 70,000
0l IS H P2 RS 70,000 70,000
OATD Hels 6IAE DI X
70,000,000 70,000
DT0IRE AN 2SN 40,000 40,000
408 XX SHIS =0/ F 40,000 40,000
01 IXSH A ZEE 40,000 40,000
ODTIRYE ENHSA ST
40,000,000 40,000
H0PI= UEE A 24,000 24,000 0
5] 24,000
308 KIS0 & 24,000 24,000 0
5] 24,000
0 IS H P 2R 24,000 24,000 0




L AR

=TT

3 =Xls&E #¥
ool XIGSE U SABMY SH (crol: m2)
AR RA BB B(S) - MBAY - B O &kt A tImE=T
OO0t SERE A 24,000,000& 24,000
J| 24,000
SABHIST AMEA 136,000 0 136,000
= 136,000
308 AXISHMSOIA 136,000 0 136,000
= 136,000
01 AXISHNBAEES 136,000 0 136,000
O=AZHIRH AYAIS
136,000,000& 136,000
= 136,000
N E ==y 6,078,487 7,429,610 21,351,128
= 1,862,956
Al 4,215,531
P = K& 1,474,561 1,364,513 110,048
308 AXISHMSOIN 1,474,561 1,164,513 310,048
01 AIXISHNHBAEES 1,474,561 1,164,513 310,048
OzletZ=gRI& 66, 150,000& 66,150
Ozstds4t2013| X
42,714,000& 42,714
O=d0IME MarZ HiRl 2L
141,875,000 141,875
OolsaE 52 A& 966,831,000 96,831
OFsde HEAAASA 56,991,000 56,991
OXNS ST (HEEA)AIS
200,000,000 200,000
SIIEHIZ2 XS (HE-XIR)(2SHH ) (B AL 2,068,429 2,068,429 0
308 AXISHMSOIN 2,068,429 2,068,429
01 AIXISHNBAEES 2,068,429 2,068,429
ORJIEElE X201 2-1&H)
2,068,429,000& 2,068,429
2I18Hlg JEEx 2 3208 XA 1,385, 186 0 1,385, 186
= 1,038,883
Al 346,298
308 AXISHMSOIH 1,385, 186 0 1,385,186
= 1,038,888
Al 346,298
01 AIXISHNBAEERZ 1,385,186 0 1,385,186
2I8Hlg IEEX & =20t XA
1,385, 186,000 1,385,186
= 1,038,883
Al 346,298
E2MEH KA 894,466 756,390 138,076
= 690,058
Al 204,408




L AR

=TT

D FAsE 7E

HEdsdSY (Er9:&e)
42N Y. GABH) - ARAY - BES ofl & A RS2
308 XXM SOl 894,466 756,390 138,076
= 690,058
Al 204,408
01 XN BSELS 894,466 796,390 138,076
OENEM N& 894,466,000 894,466
= 690,058
Al 204,408
=N KA 225,320 147,288 78,032
= 112,660
Al 112,660
308 XXM SOIA 225,320 147,288 78,032
= 112,660
Al 112,660
01 MRS SEXS 225,320 147,288 78,032
OFRIISSAM K& 225,320,000 225,320
= 112,660
Al 112,660
GP Ot 24X 18,525 35,640 A17,115
= 12,350
Al 6,175
308 AFAIEHMSOIE 18,525 35,640 A17,115
= 12,350
Al 6,175
01 MRS SExXS 18,525 35,640 217,115
OGP ot8 e 24 X1d 18,525,000 18,525
= 12,350
Al 6,175
GAP PIMAIE 22 X2 12,000 0 12,000
= 9,000
Al 3,000
403 MR EHHMSAHE01H 12,000 0 12,000
= 9,000
Al 3,000
01 AXISHHA2EE 12,000 0 12,000
OGP AMAIE 22 XIS 12,000,000 12,000
= 9,000
Al 3,000
siE 28y Jlgtxd 3,360,519 4,435,804 A1,075,285
= 14,720
7l 186,410
Al 3,189,389
SFLESIH =2 417,042 784,575 A367,533
403 MHXISHHSZ01N 417,042 784,575 A367,533
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L FHagES SN SEAD

(S = rummpy o

D FAsE 7E

D SHE 38 J|gtxy (Gt H2)
224 3. B(3H) - ASAY - BAS 0 &y e HIRS2
01 XX SN AH=E X 417,042 784,575 N367,533
OrZLEsIH =22
417,042,000& 417,042
sI|H LHAFS (XEAI) 460,000 460,000
308 AIXISHHMSOIH 160,000 160,000
01 AIXHMEANEEZ 160,000 160,000
OsI|HAUAIE A 29 XA
160,000,000 160,000
403 REXIHMS K201 300,000 300,000
01 XX SN A= E X 300,000 300,000
OsIIHLHAI 300,000,000 300,000
S HSSHEX 22 K& 25,760 24,290 1,470
= 14,720
Al 11,040
403 REXISHHIS K201 & 25,760 24,290 1,470
= 14,720
Al 11,040
01 RXISHHMA2E X 25,760 24,290 1,470
OsJIHSSHEX 2
25,760,000 25,760
= 14,720
Al 11,040
AQIEEICTESSEE A 212,717 181,669 31,048
J| 156,410
Al 56,307
403 REXISHHS K201 & 212,717 181,669 31,048
Dl 156,410
Al 56,307
01 AXISHHA2E X 212,717 181,669 31,048
OAE20Is st X 118, 162,000& 118,162
J| 86,884
Al 31,278
(OFNF=1=r=2NE=] 27,265,000& 27,265
J| 20,048
Al 7,217
OoNHXIEd XA 67,290,000& 67,290
J| 49,478
Al 17,812
WA SEES &0 XA 10,000 0 10,000
307 QIZtoI™ 10,000 0 10,000
02 IZHEAAMHE R 10,000 0 10,000
O=UASeres &It X&
10,000,000 10,000




d=: &4

P=E

(S = rummpy o

D FAsE 7E

‘3%;2 sH= 288 Jlgtxd (Gt H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

sitte RS A 326,315 336,315 210,000
308 RXIHMSOIH 326,315 326,315 0
01 AXIEHELAExS 326,315 326,315 0
OZst=s4=E B2 50,000,000 50,000
Ostt2 RS =541 XN
276,315,000& 276,315
HllsitE M2masSHH 2SAH 517,590 412,020 105,570
403 X SHMSAHZ01 A 517,590 412,020 105,570
01 Xt AHE22 = 517,590 412,020 105,570
OsdtE 28 M2ME0 XJ
517,590,000& 517,50
s&2 ZEFZECH TEMH XA 418,414 418,414 0
308 REXIHMSOIH 418,414 418,414
01 AXIEHELAERS 418,414 418,414
Osdt2 EEAASE6H ZE MYl K&
418,414,000& 418,414
SANZ2usY |4 X 834,531 1,084,171 A199,640
403 MHXIHMS 201 834,531 1,084,171 A199,640
01 AXSHHE2ER 834,531 1,084,171 A199,640
OEANZ2n=Y SHX&
240,644,000& 240,644
OZ=8t=se SHX2
593,887,000& 593,887
s&E dollE LM M3 XA 60,000 60,000
403 XX SHHSA=01H 60,000 60,000
01 XXX A2 2 £ 60,000 60,000
Os&z dolls2H M3 N&
60,000,000& 60,000
B XAss =& dXIKIE 78,150 0 78,150
403 XX SHHSKH=01A 78,150 78,150
01 AXIEtH A2 £ 78,150 78,150
OH Xisst 2 4XX&
78,150,000 78,150
SOHAIE 2tel 1,226,000 0 1,226,000
= 300,000
Al 926,000
TESAMS A ZOI M A S A 26,000 26,000
401 AIEHIZ 2018 26,000 26,000
01 AlEHI 26,000 26,000
OAMSXl Hol HE dHIE XIE
26,000,000 26,000
AotsAES0HAIE AIE S HSHALY 1,200,000 0 1,200,000
= 300,000
Al 900,000




2 FRAYES A

Hu: =fsE D8

CHel: ZOHAIE 2t (SH9 H2)
AR 2A B S(BH) - MBAE - BAS Ol &b aET HmE2
SmrTACER e N S5 B Ol &4 =2

401 AAHI2L S| 1,200,000 0 1,200,000
= 300,000
Al 900,000
01 Al&HI 1,200,000 0 1,200,000
OHEZAF EFSA EA} 200,000, 0002 200,000
OJl=2 2 MAILY 1,000,000, 0002 1,000,000
= 300,000
Al 700,000
ST oflet 22,694,550 17,047,560 5,646,990
= 18,366,500
Al 4,378,050
B0 (R E) 3,524,000 6,479,000 22,955,000
= 3,524,000
402 RIZFRH=0I A 3,524,000 6,479,000 12,955,000
= 3,524,000
02 DIZFGHE A 2 (O1MTHE) 3,524,000 6,479,000 12,955,000
OB2TH & A 3,524,000,000! 3,524,000
= 3,524,000
SOIN SRS ERME S (RE) 3,780,000 3,500,000 280,000
= 3,780,000
402 QI2HRH=0I A 3,780,000 3,500,000 280,000
= 3,780,000
02 QIZHGHE AR 2 (O1MTHE) 3,780,000 3,500,000 280,000
OZItBe B EH HEAALY
3,780,000,0008! 3,780,000
= 3,780,000
SOIX SRS ERMS A (X ) 15,279,250 6,881,000 8,398,250
= 11,062,500
Al 4,216,750
403 XHXICHRIS X201 & 15,279,250 6,881,000 8,398,250
= 11,062,500
Al 4,216,750
01 MXISHHX=EE 15,279,250 6,881,000 8,398,250
OXI BRI B RN HE ALY
15,279,250, 0002 15,279,250
= 11,062,500
Al 4,216,750
IS0 SYBS 22AMY 111,300 187,560 NT76,260
403 HXISHRIS X201 & 111,300 187,560 NT76,260
01 RIXISHHIK=EX 111,300 187,560 A76,260
OJI20HH S BEMNY KA
111,300,000 111,300
OFEEl SMAD|BH FH| 2,946,369 7,983,712 15,037,343




L AR
D =NsE 78

=TT

r

el ot E SR FH (Gt H2)
A - 24 - 38 - HA(3) - MM - BES Oi &F2H Oaﬂg% Hws2Z
7 182,259
Al 2,764,110
sXolE2el X 221,369 243,712 A22,343
| 182,259
Al 39,110
308 REXIHMSOIH 221,369 243,712 A22,343
| 182,259
Al 39,110
01 AXSHHELEXS 221,369 243,712 A22,343
OsXO0ISA A 221,369,000& 221,369
| 182,259
Al 39,110
=clH ==elAld ZHl X& 250,000 250,000 0
308 KXIHMSOIH 250,000 250,000
01 MXSHBLEES 250,000 250,000
O=clA=2lAIE2Z ZHIXI&
250,000,000 250,000
SI|BHAEYI(HE-XIR ) (HEALY) 2,475,000 6,990,000 24,515,000
403 XX SHHSA=01A 2,475,000 6,990,000 4,515,000
01 XEXISHI =2 & 2,475,000 6,990,000 A4,515,000
OZ72el A2 (He-X1~)
2,475,000,000& 2,475,000
HE XS 116,970 129,958 A 12,988
= 31,800
Al 85,170
MEotE el u=s & 1,260 1,560 A300
= 600
Al 660
308 REXIHMSOIH 1,260 1,560 A300
= 600
Al 660
01 XN EXS 1,260 1,560 A300
OsEMgits 9gds U=
1,260,000& 1,260
= 600
Al 660
SEMEOES AIRE 12| 50,470 70,285 219,815
308 REXISHMSOIH 50,470 70,285 219,815
01 AN L EES 50,470 70,285 219,815
OsEMENS AIRE 2124d|
50,470,000& 50,470
SEME0S 280t X 3,900 3,900 0
= 3,000




2 FRAYES
B =lsE 28

Rl SOHE NS EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

Al 900
308 AXIHMSOI & 3,900 3,900 0
= 3,000
Al 900
01 AXIEHBLEES 3,900 3,900 0
OsEAdgiEe 280t X
3,900,000& 3,900
= 3,000
Al 900
S=01g AHIA OHE DS 6,140 9,213 23,073
308 REXIHMSOIH 6,140 9,213 23,073
01 XN LAExS 6,140 9,213 3,073
O=&01g MUlA etdu=
6, 140,000& 6,140
sE2Z AS 435 N 27,000 45,000 A 18,000
308 AXIHMISO0I & 27,000 45,000 A 18,000
01 AXIEHBLEES 27,000 45,000 A 18,000
O=s&2d A5 435 N
27,000,000& 27,000
sESSS MM 28,200 0 28,200
= 28,200
308 AXIHMSO0I& 28,200 0 28,200
= 28,200
01 XN EXS 28,200 0 28,200
O=sEMSRES I XA 28,200,000 28,200
= 28,200
o 3YH 2Ast 9,921,867 8,977,245 944,622
= 1,229,618
| 3,245,027
Al 5,447,222
S4tsIE BFetd I3 6,045,752 5,386,498 659,254
| 2,696,006
Al 3,349,746
NN & SIS AL 328,020 293,245 34,775
308 AXIHMSO0I& 328,020 293,245 34,775
01 XN BAELS 328,020 293,245 34,775
OJ=EZE+38 K& 25,545,000& 25,545
OREZ=0AH XA 90,300,000& 90,300
OSSO0t MAHHTAIY SE=
400,000& 400
ORldets X2 39,375,000 39,375
Oy 84 XA 172,400,000 172,400
Sues =4 X 3,246,667 3,000,000 246,667
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eSS ;é: 34" Ast
ol FitsIE FEetd X (SH9 H2)
424 - ZH - O9(E) - MRAY - BES ofl & A HDS2
pJ 1,948,000
Al 1,298,667
307 2Itold 3,246,667 3,000,000 246,667
2l 1,948,000
Al 1,298,667
02 2IZHBYAIHE X 3,246,667 3,000,000 246,667
Ostussaa A 3,246,667,000& 3,246,667
Jl 1,948,000
Al 1,298,667
AotetRe EHE |4 35,250 391,000 245,750
308 XXM SOIA 35,250 391,000 A45,750
01 XN EES 345,250 391,000 A45,750
OtEHE=SH A 345,250,000 345,250
SASZONE R X 258,810 277,167 18,357
308 XXM SOl 258,810 277,167 A18,357
01 XN BSELES 258,810 277,167 18,357
OJ=2a AHMHZM X2
21,210,000 21,210
OJ=ER2L HIZS =2=EH X
237,600,000 237,600
TANEAME SAHY X 16,000 15,000 1,000
pJ 16,000
308 XXM SOIA 16,000 15,000 1,000
) 16,000
01 HXSHH B E2ES 16,000 15,000 1,000
O=ZAMEE SH7Y X
16,000,000 16,000
Jl 16,000
St 0HMIE 723,000 658,970 64,030
Il 442,416
Al 280,584
308 AHXIEMSOIH 723,000 658,970 64,030
Jl 442,416
Al 280,584
01 HRHHBSEEXS 723,000 658,970 64,030
OSSO ME A 723,000,000 723,000
) 442,416
Al 280,584
HsE0l XN 23,520 23,520
308 XtXIEMSO0IE 23,520 23,520
01 HXSHH B EES 23,520 23,520
OHs&ER0 N 23,520,000 23,520
ZAME Al HE2s5H X 200,000 200,000 0




SRS ;/\L: e 235t
&Rl SotsIE ZEeHE K (SH &)
M. RA B O9I(S) - ALY - BAS ol &t Bl HIDS2
J| 100,000
Al 100,000
308 AXIHMSO0IA 200,000 200,000 0
J| 100,000
Al 100,000
01 HRSHHBAEES 200,000 200,000 0
OZAZE ArelXl ME25H XA
200,000,000& 200,000
J| 100,000
Al 100,000
MNEEE K& 1,200 1,200 0
206 =4I 1,200 1,200
01 M=4l 1,200 1,200
OM=ZZEZE ANZ2HF M=
1,200,000& 1,200
=S oH ol & 111,000 111,000
403 AXIEHMSAH=0ld 111,000 111,000
01 MXIHHA =222 111,000 111,000
OFAF S3He &4l X
111,000,000& 111,000
= HASZM X 32,550 32,550
308 AXIHMSO0IA 32,550 32,550
01 AXHHBLELS 32,550 32,550
O=gUHl Jt= HASZH X
32,550,000& 32,550
IEER Al JIAHZE N 240,000 240,000 0
403 AXIEHMSAH=0l 240,000 240,000
01 MXIHH A =22 240,000 240,000
OIEEZLXMelIIAH HEIXRAAS
240,000,000& 240,000
=4 AIR=SJHl XIZ 42,000 47,250 N5,250
308 AXIHMSO0IA 42,000 47,250 N5,250
01 X HHBLEEZ 42,000 47,250 Ab5,250
OF& A2=SFHl K& 42,000,000 42,000
=420 ICT 858 A 185,000 0 185,000
J| 185,000
403 MM S =01 185,000 0 185,000
Il 185,000
01 MXISHH A =22 185,000 0 185,000
OFAZ20F ICT = HetAtY
185,000,000 185,000
p) 185,000
f=0SE ESXE 6,660 0 6,660
Jl 4,440
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2. 24 - ZB . O9(S) - HRAY - BAS A HimE=T
Al 2,220
308 KXIHMSOIH 6,660 0 6,660
| 4,440
Al 2,220
01 AXIEHBLEES 6,660 0 6,660
O=02d 2K 6,660,000 6,660
J| 4,440
Al 2,220
LHEIXIEY K& 225 750 Ab25
| 150
Al 75
403 XX SHHSK=01A 225 750 Ab25
| 150
Al 75
01 RXISHH =2 E X 225 750 AB25
OLYEXIEH K& 225,000& 225
| 150
Al 75
StS=Hl X 7,200 7,200 0
308 KEXISHMSOIH 7,200 7,200
01 AXIEHZAExS 7,200 7,200
Ogt*sEHl X 7,200,000& 7,200
Ste SEMH Sas0IEH NI 1,500 1,500 0
308 RXIHMSOIH 1,500 1,500
01 IXSHHBAEES 1,500 1,500
Ot RedH s4=213Hl XA
1,500,000& 1,500
1sg gHaloigt 4 X2 59,500 59,500 0
308 AXIHMSO0I& 59,500 59,500
01 AXIEHBAEES 59,500 59,500
Onssy gHAD|I |4 X
59,500,000& 59,500
2IIEIXIEY] K& 7,650 12,546 A4,8%6
308 REXISHMSOIH 7,650 12,546 A4,8%6
01 AXIEHELAEXS 7,650 12,546 A4,8%6
ORI XI&H K& 7,650,000& 7,650
MEHE JIHEH X2 AHS 210,000 210,000
403 XIS MS 01 210,000 210,000
01 XEXIEHI A= 2 2 210,000 210,000
OAIEHMIZE JIHEEl XI&AAS
210,000,000& 210,000
g ot 235t 370,676 355,280 15,3%
= 9,400




2= ZHREER 2A S
g =4 FHY 25
ol FAE otEE st EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
pJ 208,593
Al 152,683
F42 200 £ Mzl XE(RE) 3,400 3,400 0
= 1,700
Al 1,700
206 THZHI 3,400 3,400 0
= 1,700
Al 1,700
01 M= HI 3,400 3,400 0
O=42 £t ¢ M=Hl N2 (HE)
3,400,000 3,400
= 1,700
Al 1,700
SME #=0H 2 HEHl X (X) 5,100 6,000 2900
= 3,000
Al 2,100
308 AXIMS0IA 5,100 6,000 2900
= 3,000
Al 2,100
01 HAHHBSEELS 5,100 6,000 2900
O=42 =0t & MIHl X3 (KY)
5,100,000 5,100
= 3,000
Al 2,100
HUSMESAMZARZ 29 = 7,990 7,050 940
= 4,700
Al 3,290
308 AXIHHSO0IA 7,990 7,050 940
= 4,700
Al 3,290
01 HXHHBAEES 7,990 7,050 940
OgU=42 RAMTAIH =F
7,990,000 7,990
= 4,700
Al 3,290
SatE0152e] X 39,186 36,830 2,3%
pJ 19,593
Al 19,593
307 2Ito1d 39,186 36,830 2,3%
2l 19,593
Al 19,593
02 2IZHBYAIAE & 39,186 36,830 2,3%
OA110] o1& ==Hl 39, 186,000 39,186
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A 2A - B . HA(SH) - MIRAIY - BES (1;| Palgely ﬁﬁ% Hlwsz2
| 19,593
Al 19,593
CEAAR ol2dd| X 315,000 302,000 13,000
7| 189,000
Al 126,000
307 212+01™ 315,000 302,000 13,000
7 189,000
Al 126,000
02 QIPBAAEE R 315,000 302,000 13,000
OSZZAH Q12| X2
315,000,000 315,000
| 189,000
Al 126,000
=ga 2e) 2,158,658 2,298,977 140,319
= 739,678
| 340,428
Al 1,078,552
lEsdgY 22U =X 24,560 25,560 1,000
201 Yet2 | 11,590 12,590 1,000
01 At22t2|t] 7,480 8,480 1,000
OZOIAF A=K HE
3,480,000 3,480
Otsed =282 M 3,000,000 3,000
Ofd3| adag 1,000,000 1,000
02 =229l 4,110 4,110 0
oguxe 249 4,110,000& 4,110
206 MHZH| 12,970 12,970
01 M= bl 12,970 12,970
OS282AE =HAMI
2,970,000& 2,970
(@FdI=1=las:Nl 10,000,000& 10,000
lEsdgY 2EU XA 463,264 488,851 N25,587
308 XIXISHHISOIE 463,264 488,851 N25,587
01 AXHHBABEZ 463,264 488,851 N25,587
O3=9 =4 61,200,000 61,200
OZAY HEEE Al=tl
91,750,000 91,750
OMHs IIsdgY A=A4E XA
73,750,000 73,750
OJE424 2Y olgsE X
66,564,000 66,564
OJisdgyY SgeAl 2
170,000,000 170,000
oeE S XNA(RY) 158,721 161,676 A2,955
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&2l JIEEgE 2l (EEEE))
AR RA BB O(SH) - MSAY - BAS 0 &y e HIRS2
= 88,219
Al 70,502
201 Let2AY| 51,678 54,054 N2,376
= 25,839
Al 25,839
2 33294l 51,678 54,054 N2,376
OFAMUHSEM KR 51,678,000& 51,678
= 25,839
Al 25,839
206 M| 107,043 107,622 579
= 62,380
Al 44,663
01 MHZHl 107,043 107,622 579
OIN=HGY Oll==At 107,043,000 107,043
= 62,380
Al 44,663
BorE S XIS (KIS) 434,017 449,892 N15,875
= 279,798
Al 154,219
308 AXIHHSOIA 434,017 449,892 A15,875
= 279,798
Al 154,219
01 AXISHHEAEEZ 434,017 449,892 15,875
OWHX WMBBIOISAA IZEZ=AL
52,380,000& 52,380
= 34,920
Al 17,460
O&dAY oAt 28,199,000& 28,199
= 19,747
Al 8,452
O B=24detd - Ay e 2E |
70,395,000& 70,395
= 32,490
Al 37,905
OHXIAR2HEE XE K&
31,500,000 31,500
= 21,000
Al 10,500
OJ2sot 2gae| X3
27,000,000 27,000
= 18,000
Al 9,000
OSSR PS S| AAIER XIR
11,790,000& 11,790
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A= JHE=ER M sS4t
M 43S A5t
&2l JIEYg 2l EER=E)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
= 7,860
Al 3,930
OsSHz=A2E % A=HISKE
140,625,000& 140,625
= 93,750
Al 46,875
OOMES=E HHXISE DIt
17,103,000& 17,103
= 14,103
Al 3,000
O0rlis= ZAE D0
7,930,000& 7,930
= 6,531
Al 1,39
OHAED| SsLH K&
36,000,000& 36,000
= 24,000
Al 12,000
CAl AIZTHH HIE AR 11,095,000& 11,095
= 7,397
Al 3,698
gAY S KJ(XH) 28,000 28,000 0
= 20,000
Al 8,000
403 NXIEHS =201 28,000 28,000 0
= 20,000
Al 8,000
01 AXISHHA=2 2L 28,000 28,000 0
Oogoxer XA 28,000,000& 28,000
= 20,000
Al 8,000
THS oges s X 243,057 287,211 N4, 154
= 179, 161
Al 63,89%
308 XXM SO0l 243,057 287,211 N4, 154
= 179, 161
Al 63,89%
01 AUXIEHZAEES 243,057 287,211 N44, 154
OT M HIEFA 116,750,000& 116,750
= 96,236
Al 20,514
OF M oileal S Al=HI
107,692,000& 107,692
= 71,7%




2= ZHREER A SFA
g =4 FHY 25
Rl g 2 EEED
AR 2A BB S2(BH) - MRAY - BES Ofl Oﬁ]gﬁ HnE2
Al 35,897
OFHS LTS 23tAl
12,375,000 12,375
= 8,250
Al 4,125
O4 FHS MWl 6,240,000& 6,240
= 2,880
Al 3,360
AHEENS 191,250 191,250 0
= 170,000
Al 21,250
308 XXM SOIA 191,250 191,250 0
= 170,000
Al 21,250
01 AXEH B2 LS 191,250 191,250 0
Odd==2a= 191,250,000 191,250
= 170,000
Al 21,250
=M= A 2l - A2 4,375 4,375 0
= 2,500
Al 1,875
308 XXM SOIA 4,375 4,375 0
= 2,500
Al 1,875
01 XN EES 4,375 4,375 0
OJI=0HEX A= 2| 4,375,000& 4,375
= 2,500
Al 1,875
JIEAYLS A2 R SHH 2l2H| X2 216,200 212,000 4,200
Jl 130,000
Al 86,200
307 2I2t01 216,200 212,000 4,200
) 130,000
Al 86,200
02 2IZHBAMAHEE 216,200 212,000 4,200
O Al elAdl XI& 216,200,000 216,200
) 130,000
Al 86,200
SSENE =29 318,290 310,450 7,840
2l 189,145
Al 189,145
307 2I2t01 318,290 310,450 7,840
Jl 189,145




S0 2as 29 N
s 2 EER=E)
224 3. B(3H) - ASAY - BAS 0 &y e HIRS2
Al 159, 145
02 QLB AMAIEE X 318,290 310,450 7,840
O34 29 318,290,000 318,290
J| 159,145
Al 159,145
8@ M olTe} 76,924 57,712 19,212
J| 51,283
Al 25,641
403 RIXIHMSK201H 76,924 57,712 19,212
J| 51,283
Al 25,641
01 AIXISHMAEE X 76,924 57,712 19,212
OCCIvVe g9golmet &Ax| X
76,924,000 76,924
J| 51,283
Al 25,641
SEBS 2 1,346,781 936,490 410,291
= 480,540
Al 866,241
R4 FIIs2 2el== ME X 162,570 171,570 A9,000
= 89,340
Al 73,230
308 AHXIHHMSOIH 162,570 171,570 A9,000
= 89,340
Al 73,230
01 AXISHNEBAELRZ 162,570 171,570 /9,000
OF=x - BSHIX&E 92,820,000& 92,820
= 42,840
Al 49,980
Osa s L H=E A
69,750,000& 69,750
= 46,500
Al 23,250
2020 S4ster= XA 410,000 340,500 69,500
= 164,000
Al 246,000
308 AHXISHHMSOIH 410,000 340,500 69,500
= 164,000
Al 246,000
01 XIXISHNBAEERZ 410,000 340,500 69,500
OZ1N20| ES45te= K&
410,000,000 410,000
= 164,000
Al 246,000




2= ZHREER 2A S
g =4 FHY 25
el SEES 2 EER=E)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
AeN=A SHetes NE 47,300 55,000 A7,700
= 17,200
Al 30,100
308 AXIMSOIA 47,300 55,000 A7,700
= 17,200
Al 30,100
01 AXHHNBHEES 47,300 55,000 A7,700
OaeM=A Sdatez X
47,300,000& 47,300
= 17,200
Al 30,100
RIISSLLHEHEXINZ 339,906 0 339,906
= 210,000
Al 129,906
401 AlEBIYL S THYI 339,906 0 339,906
= 210,000
Al 129,906
01 Al&HI 335,335 0 335,335
Ottelss SX23HlE A&
335,335,000 335,335
= 206,119
Al 129,216
02 2teld| 3,191 0 3,191
Oetd == SXZ3HE Zeld
3,191,000& 3,191
= 3,191
03 Al 20HHI 1,380 0 1,380
Ot =sE SXZ3HHE AIE 2]
1,380,000 1,380
= 690
Al 690
=lls= 2l 183,200 158,000 25,200
201 fet= 3| 2,000 2,000 0
01 AtR2t2l] 2,000 2,000 0
O=E2s 8228 H& 2,000,000 2,000
308 XXM SOIA 181,200 156,000 25,200
01 AX N B2 LS 181,200 156,000 25,200
RIIS=S 2 181,200,000 181,200
200| 2l &3t 405 810 2405
308 AXIMSOIA 405 810 2405
01 XN B2 LS 405 810 2405
Oz210l g4 X XA
405,000 405
OrdstEl RI1A X X 18,000 18,000 0
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A= JHgEs 2A 2 sFAY
g R4 ZHE A5
el SEES 2] EER=E)
A 2A - FH . G(BH) - NRAY - BES 0 &y A HIRS
308 ARISMSOIE 18,000 18,000
01 MRS SEXS 18,000 18,000
OOrstEl RI1A 2= X
18,000,000& 18,000
Rls= ddX=Hl XA 30,000 30,000 0
308 ARISHMSOIH 30,000 30,000
01 MASHB&Ex= 30,000 30,000
ORJIsE BAXZHl K&
30,000,000 30,000
2020] Sdak X (X2hl) 83,700 83,700 0
308 ARISHMSOIE 83,700 83,700
01 MASHBSEXS 83,700 83,700
Oz 0| 43k XA (Xhl)
83,700,000 83,700
gsE 2ot A Ws 25,200 32,610 AT7,410
308 ARISHMSOIH 25,200 32,610 AT7,410
01 MAESHBaExS 25,200 32,610 AT7,410
Otteis= 23 220 1T
25,200,000 25,200
S==NA%s 748 € 29 1,500 1,500
201 2Bt ] 1,500 1,500
01 AFR2telHl 1,500 1,500
Oss=sX9gs 24 1,500,000 1,500
FHEAHE Ltds= 2zl S N 15,000 19,800 4,800
308 ARISHM SOOI 15,000 19,800 24,800
01 MASNBSExRS 15,000 19,800 4,800
OF s etels= A=l S A
15,000,000& 15,000
SEES QAN EEAY 30,000 0 30,000
201 Let2dy| 3,600 3,600
01 AlR2telHl 3,600 3,600
OS2ES ANE SE2(H00IAH, '248HA1)
3,600,000& 3,600
308 XXM SOIA 26,400 26,400
18 S| 2ASHUEHE 4N S AR 26,400 26,400
OAIUH A 2ARZ1) S(Z0{0A, '248HAl)
26,400,000 26,400
wsHE X2 82,170,386 71,312,085 10,858,301
stuga X2 82,170,386 71,312,085 10,858,301
stuga X2 82,170,386 71,312,085 10,858,301
201 Zet2d] 4,000 5,400 A 1,400
01 AlR2telHl 4,000 5,400 A1,400
O3 B4 S 4,000,000 4,000
206 M=Hl 13,004,267 13,843,026 NT48,759




SEEEPS Falgeapeeb s 2A  S=AD

DUsHE K

sngAl K

(Sl X))
A 2A - B . HA(SH) - MIRAIY - BES (1;| Palgely glg% Hlns
01 24l 13,004,267 13,843,026 NT48,759
Ostu3Al SSX2 Al
13,004,267 000 13,004,267
308 XIXISHHISOI& 69,072,119 57,463,659 11,608,460
08 WEI|AMHBE X 69,072,119 57,463,659 11,608,460
oAz X 69,072,119,000& 69,072,119
HYSHAH 48,700 50,007 A1,307
2Bl (ss40 48,700 50,007 ~1,307
SN2 48,700 50,007 ~1,307
201 Lete | 28,020 28,876 N85%6
01 Al22t2|l 26,020 26,876 A856
Ogets2Y| 10,044,0002 10,044
O3] 15,976,000 15,976
® I2294| 2,000 2,000 0
OXtFalety] 2,000,000 2,000
202 04| 15,760 16,211 N451
01 2oL 15,760 16,211 451
OJ 12248 X0 15,760,0002 15,760
203 YR EZY| 4,920 4,920
M EANRYLRFNY] 4,920 4,920
ORNSYLRFNY| 4,920,000 4,920
NIPES(s=4tD) 4,006,094 3,001,3% 1,004,700
WESW NS 4,006,094 3,001,3%4 1,004,700
022 223 a8 4,006,094 3,001,394 1,004,700
705 O3S AE 4,006,094 3,001,3%4 1,004,700
01 G223 48t 2,833,334 2,833,334 0
OSE22DIS(FEZOHAIZOI™ AlHI)
2,833,334,0002 2,833,3%
02 Oll3=2 0| XFAatEt 116,759 168,060 A51,301
OS2I S(FLZOHAIZOIE AtHI)
116,759,000 116,759
04 Al + EXISIHLD 20420 KHakst 1,056,001 0 1,056,001
OXISIHLI|2(5tn LAZA) ol4=2 0IX
Abst 1,056,001,000&! 1,056,001
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